Please note that there is no “key” for this exam. If you can’t answer many questions, it means that you are not ready for the exam! Before trying to answer these questions thoroughly read your notes and text and work out the problems in the textbook and online. If you wish, you can submit the answers on a Scantron a few days before the actual exam to see the result.
1.  A monetary system establishes which of the following types of standardization?

a.  both c and e

b.  all of the following

c.  unit of value

d.  unit of weight

e.  means of payment

2. When money is used to compare the costs of different goods and services, it is functioning as

a.  a unit of account

b.  a means of payment

c.  fiat money

d.  a store of wealth

e.  legal tender

3. The Federal Reserve Act passed the US Congress in the year

a. 1791.

b. 1811.

c. 1864.

d. 1900.

e. 1913.

4. The paper currency that is now in use in the United States is an example of

a. commodity money.

b. constitutional money.

c. bimetallic money.

d. fiat money.

e. none of the above.

5. Gold, and silver, when used as money, are referred to as

a.  fiat money

b.  precious money

c.  paper currency

d.  commodity money

e.  funny money

6. According to your instructor, which of the following major events occurred in 1971?

a. The Federal Reserve System was established

b. The First Bank of the United States was established

c. Dollar was allowed to float in international markets

d. The banking system nearly collapsed and a bank holiday was declared

e. The Gold Standard Act passed the Congress

7. The primary reason that U.S. money has value is that 

a.  it is backed by gold.

b.  it is backed by silver.

c.  it is accepted by others in exchange for goods and services.

d.  it is commodity money.

e.  the Federal Reserve has fixed its value relative to gold and silver. 

8. Money is

a. any asset that is convertible into cash.


b. any asset with intrinsic value such as gold or silver.


c. any asset widely accepted as a means of payment.


d. anything that facilitates exchange.

9. Which of the following is not a component of M1?

     a.  cash

     b.  demand deposits

     c.  other checkable deposits

     d.  savings deposits

     e.  travelers' checks 

10. The least liquid of the following assets is

     a.  cash in the hands of the public

     b.  time deposits

     c.  savings accounts

     d.  travelers' checks

     e.  demand deposits

11. Which of the following is not part of M2?

     a.  savings-type deposits

     b.  individual money market mutual fund balances

     c.  small time deposits

     d.  large time deposits

     e.  cash held by the public

12.  Credit cards

     a.  are considered money because they are a means of payment.

     b.  are not considered money and thus are not of importance to the monetary authority

     c.  are not considered money but are important because they may affect how much people hold in M1 and M2

     d.  are counted in the money supply as part of M3

     e.  are considered money when held by the public

13.  The largest group of depository institutions is

     a.  savings and loan associations

     b.  mutual savings banks

     c.  pension funds

     d.  credit unions

     e.  commercial banks

14. A bank's balance sheet shows

     a.  information about the riskiness of its loans

     b.  the amount of money loaned to each individual borrower

     c.  the amount of cash in the hands of the public

     d.  the number of checking accounts it maintains

     e.  the bank's assets and liabilities

15. Which of the following is a liability of a commercial bank?

     a.  property and buildings owned

     b.  loans

     c.  government bonds held

     d.  cash in its vault

     e.  deposits at the bank

16. If a commercial bank has assets valued at $200 million and a net worth of $20 million, what is the value of the bank's liabilities?

     a.  not enough information to determine

     b.  $20 million

     c.  $220 million

     d.  $180 million

     e.  $200 million

17. If the Federal Reserve sets a required reserve ratio of 0.2 and a bank has $100 million in loans and $80 million in deposits, what is the level of required reserves for the bank?

     a.  $100 million

     b.  $16 million

     c.  $80 million

     d.  $20 million

     e.  $36 million

18. How many districts does the Federal Reserve System have?

     a.  50

     b.  1

     c.  12

     d.  48

     e.  4

19. How long are the terms of members of the Board of Governors in the Federal Reserve system?

     a.  2 years

     b.  4 years

     c.  6 years

     d.  14 years

     e.  the remainder of the governor's life

20. Which of the following is not a function of the Federal Reserve System?

     a.  setting the required reserve ratio

     b.  establishing the prime lending rate

     c.  clearing checks

     d.  regulating banking activity

     e.  controlling the money supply

21. If the reserve requirement is 0.2 and demand deposits are $800 (assume no earlier loans), the banks can lend out

     a.  $800

     b.  $80

     c.  $640

     d.  $160

     e.  $460

22.  If the total amount of demand deposits in the country increases by $12,000 after the Fed purchases $6,000 in bonds, what is the required reserve ratio?

     a.  0.4

     b.  0.1

     c.  0.2

     d.  0.5

     e.  0.3

23. If the Federal Reserve wishes to increase the money supply by $30,000 and the reserve requirement ratio is 0.4, how big a purchase of bonds will the Fed need to make?

     a.  $75,000

     b.  $12,000

     c.  $1,000

     d.  $30,000

     e.  $3,000

24. If the Federal Reserve purchases $1,000 in bonds and the reserve requirement ratio is 0.2, what will be the total change in reserves at all banks assuming there are no excess reserves?

     a.  +$500

     b.  +$5,000

     c.  -$500

     d.  -$5,000

     e.  +$1,000

25. When a bank needs to increase its reserves, it will

     a.  call in all its loans

     b.  stop paying interest on its saving accounts

     c.  borrow money from the government

     d.  call in a loan or reduce new lending

     e.  increase the number of loans it makes

26. Which of the following determines how much money an individual will decide to hold?

     a.  both c and d

     b.  all of the following

     c.  the price level

     d.  the interest rate

     e.  the individual's real income

27. The Keynesian money demand curve tells us the total quantity of money demanded in the economy at each

     a.  price level

     b.  level of GDP

     c.  quantity of money supplied

     d.  level of income

     e.  interest rate

28. If real income increases,

     a.  there will be a rightward movement along a fixed money demand curve

     b.  there will be a leftward movement along a fixed money demand curve

     c.  the demand for money curve will shift rightward

     d.  the demand for money curve will shift leftward

     e.  there will be no movement of the demand for money curve and no movement along it

29. If there is a decrease in the price level,

     a.  there will be a rightward movement along a fixed money demand curve

     b.  there will be a leftward movement along a fixed money demand curve

     c.  the demand for money curve will shift rightward

     d.  the demand for money curve will shift leftward

     e.  there will be no movement of the demand for money curve and no movement along it

30.  If there is an increase in the interest rate,

     a.  there will be a rightward movement along a fixed money demand curve

     b.  there will be a leftward movement along a fixed money demand curve

     c.  the demand for money curve will shift rightward

     d.  the demand for money curve will shift leftward

     e.  there will be no movement of the demand for money curve and no movement along it

31. The money supply curve is vertical because we assume that 

     a.  real income does not influence the quantity of money supplied

     b.  the price level does not influence the level of spending

     c.  only the interest rate influences the quantity of money supplied

     d.  the Federal Reserve sets the money supply

     e.  nominal income does not influence the quantity of money supplied

32.  Equilibrium in the money market means that the quantity of money supplied equals

     a.  both c and d

     b.  all of the following

     c.  the quantity of money that people would like to hold

     d.  the value of bonds in financial portfolios

     e.  the quantity of speculative money demanded 

33.  When there is an excess supply of money in the economy,

     a.  there is also an excess demand for money

     b.  there is also an excess demand for bonds

     c.  there is also an excess supply of bonds

     d.  the interest rate will rise

     e.  the Fed must intervene to restore equilibrium

34.  If the actual interest rate is below the equilibrium interest rate, the

     a.  Fed must intervene in financial markets to restore the interest rate to its equilibrium value

     b.  price of bonds will increase 

     c.  price of bonds will decrease

     d.  money supply will increase until the interest rate rises

     e.  money supply will decrease until the interest rate rises

35.  If Chris pays $500 for a discount bond that will return $750 in one year, what is the interest rate?

     a.  50 percent

     b.  10 percent

     c.  25 percent

     d.  250 percent

     e.  33 percent

36.  If the Fed wants to raise the interest rate, it will

     a.  increase the money supply

     b.  decrease the money supply

     c.  increase money demand

     d.  decrease money demand

     e.  simply set a higher market interest rate

37.  The interest rate charged for loans among banks is known as the

     a.  discount rate

     b.  federal funds rate

     c.  prime lending rate

     d.  bond rate

     e.  reserve rate

38.  In the short-run Keynesian model, a decrease in the money supply will

     a.  lower the interest rate, increase spending, and increase GDP

     b.  lower the interest rate, reduce spending, and lower GDP

     c.  raise the interest rate, increase spending, and increase GDP

     d.  raise the interest rate, reduce spending, and lower GDP

     e.  raise the interest rate, reduce spending, and increase GDP

39.  An increase in government spending leads to a(n)

     a.  downward shift in the aggregate expenditure line and a leftward shift of the money demand curve

     b.  upward shift in the aggregate expenditure line and a rightward shift of the money demand curve

     c.  downward shift in the aggregate expenditure line and a rightward shift of the money demand curve

     d.  upward shift in the aggregate expenditure line and a leftward shift of the money demand curve

     e.  upward shift in the aggregate expenditure line but no shift of the money demand curve

40. In the Keynesian model, an open-market purchase of bonds by the Fed will

     a.  raise the interest rate, reduce spending, and increase output

     b.  raise the interest rate, reduce spending, and decrease output

     c.  lower the interest rate, reduce spending, and decrease output

     d.  lower the interest rate, increase spending, and decrease output

     e.  lower the interest rate, increase spending, and increase output

41. The aggregate demand (AD) curve is derived using

     a.  the sum of market demand curves from all industries

     b.  product market demand curves and money market equilibrium

     c.  product market demand curves and the short-run Keynesian aggregate expenditures model

     d.  the Keynesian aggregate expenditures model and nothing else

     e.  the Keynesian aggregate expenditures model and money market equilibrium

42.  Equilibrium real GDP is

     a.  independent of the price level

     b.  determined solely in the loanable funds market

     c.  directly related to the fed funds rate

     d.  directly related to the discount rate

     e.  the level of output at which total spending equals total output for a given price level

43  Which of the following will cause a movement along the aggregate demand curve?

     a.  a decrease in the price level

     b.  an increase in government purchases

     c.  a decrease in taxes

     d.  an increase in investment spending

     e.  an increase in the interest rate

44.  If the Fed sells bonds in an open market operation, which of the following is most likely to occur?

     a.  the equilibrium level of GDP decreases

     b.  the money supply increases

     c.  the interest rate falls

     d.  the aggregate expenditure line shifts upward

     e.  the open market operation is said to be expansionary

45. If the cost per unit of output for a particular product is $10 and the product sells for $20, what is the percentage markup over cost per unit?

     a.  200 percent

     b.  10 percent

     c.  100 percent

     d.  20 percent

     e.  0 percent

46. According to your text, in the short run, a rise in real GDP will

     a.  increase unit costs and increase the price level

     b.  increase unit costs and decrease the price level

     c.  decrease unit costs and decrease the price level

     d.  decrease unit costs and increase the price level

     e.  have no effect on unit costs or the price level

47. The aggregate supply curve is

     a.  vertical in the short run

     b.  horizontal in the short run

     c.  the sum of all of the supply curves of individual firms in the economy

     d.  downward sloping in the short run

     e.  upward sloping in the short run

48. According to the text, when government spending decreases,

     a.  the AD curve shifts right

     b. first output decreases and then the price level decreases

     c.  the AS curve shifts left

     d. output and the price level decrease together 

     e.  the economy slides down the AD curve

49.  All of the following will cause a shift in AD except one. Which is the exception?

     a.  an increase in autonomous consumption

     b.  a tax increase

     c.  a contraction of the money supply by the Fed

     d.  an increase in the price level

     e.  an increase in government spending

50. Which of the following is considered to be a supply shock?

     a.  a decrease in money demand

     b.  an increase in the money supply

     c.  an increase in investment spending

     d.  a change in oil prices

     e.  a change in taxes

51.  Everything else remaining the same, a negative demand shock

     a.  shifts the AD curve right

     b.  decreases real GDP and increases the price level in the short run

     c.  is the result of an increase in money demand

     d.  results in movement down and to the right along the AD curve

     e.  decreases both real GDP and the price level in the short run

52. Which of the following mechanisms helps output to return to its original level after a demand shock?

     a.  change in business mentality

     b.  change in nominal wage rate

     c.  large changes in the capital stock

     d.  inability of the price level to change

     e.  change in inventories

53. The economy's long-run aggregate supply curve

     a.  is positively sloped

     b.  indicates that in the long run, the price level is constant

     c.  is shifted by demand shocks

     d.  is a vertical line at the full-employment level of output

     e.  is perfectly elastic

54.  According to your text, the AD-AS model implies that, in the long run,

     a.  the economy adjusts very quickly to demand shocks

     b.  changes in government spending have no effect on GDP

     c.  the price level never changes

     d.  a mixture of fiscal and monetary policy is necessary to achieve full employment

     e.  the Fed controls output

55. The Phillips curve

 a. was based on empirical studies of the Canadian economy in the 1970s

b. was based on empirical studies of the US economy in the 1980s. 

 c. was based on empirical studies of the British economy between 1860s and 1950s

 d. started as a study of the relationship between output and price level in the US economy and moved on to explain the relationship between the interest rate and productivity changes.

 e. started as a study of the relationship between output and interest rate in the British economy and moved on  to explain the relationship between the price level and productivity changes.

56. Which of the following Federal Reserve policies would stabilize the price level in the short run following a large increase in oil prices?

     a.  sell bonds in the open market

     b.  buy bonds in the open market

     c.  decrease the required reserve ratio

     d.  wait for nominal wages to change

     e.  decrease the discount rate

57. Stagflation 

     a.  is caused by a negative demand shock

     b.  is theoretically impossible

     c.  can best be shown by an upward shift in the AS

     d.  was rampant during the Great Depression

     e.  can best be shown by a rightward shift in the AD
